Lch tablai-Aoine 1U

60+ 6 = 3x6= 44+ 4 = 22+ 11 = 2x6=

10x65=__ 5x2=__ 4+2=__ 5x12=__ 54+9=
30+3=__ 5x3=_ 14+2=__ 9x2=___ 11x6=__
8x1=_ 6x12=__ 20+10=__  4x4= 30+10=__
9+3= 12+2=__ 6x4=____ 4x10=___ 3x4=

120 =10 = 8§x3= 27T +9= 4x3= 9x7=

10x2= 12x3= gx2= 30+6= 1x8=

132+ 11= 4 %12 = 2x8= 1M10+=11= gx 4=
18+ 3= 9x11= 66 6= 1M0=6= Ex 9=
9 +11= 11x2= 7x6= 8x5= 12x7=

f7=11= Gx9= 9x2= Tx12= 108=12=

Ix 5= Ix7= 8x10= Tx2= 3x10=

1%10= 84 +12= 4x11= 3x3= 72+8=

12 x 10 = 11+11= 7x3= 40 = 8 = 16+ 4=

5x9= 84+7= 63=7= 3+3= Bx2=

3x9= 72+9= 2%12= 9x 8= 3x 4=

T0=7= 2=10= 8=x3-= 12 %6 = 10x10=

6x3= 484 = 120=12= 96 = 8 = 25+5=

5x8= Tx7= 14=7= 9x7= 10%x5=



Lch Gramadachp 9 A +B

(buachaill).
i (bus).
) sa phictidrlann,




1-6

4
i
i
i
L
©
o+
=
Q

©
G

©
O




English Version

Length (m, cm) - Multiplication and division
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4. (o) 86cm + 2 (b) 92em + 4 (c) B4em+ 6 (d) 87em+3
(e) Bdem + & () 34em+2 (g) 96cm +8 (h) 48cm + 3
() Wem+ 5 D) Beme? D (K) Wem+9 D () 72eme8

S. Jane cut ¢ 70cm rope into 5 equal pieces
How long was each piece?

6, A lap of the garden measures 93m. If Andy ran 6 laps,
what distonce did be run?
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